i)  The term 'Inertia’ is related to 6(B.P.Ed) B.P.Ed./4th Sem/BCC-402/23

i) Newton's First law of motion

ii) Newton's Second law of motion 2023
1i1) Newton's Third law of motion PHYSICAL EDUCATION
iv) Law of Conservation of momentum Paper Code : BCC-402
J)  During 'Push Up' exercise which one of the Subject : Kinesiology & Biomechanics
following Lever principle is followed? Full Marks : 70 Time : 3 Hours
1) First Class lever The figures in the right-hand margin indicate marks.
ii) Second Class lever ' Candidates are required to give their answers in
S5y Phird Glass Jever their own words as far as practicable.
iv) None of the above ' Answer all the questions.
k)  The length of the muscle remains fixed in
i) Isotonic muscle contraction ' | UNIT-I
if) Isometric muscle contraction 1. Define Kinesiology and Sports Biomechanics. :
- - . . . ‘
i3 Tspkinetic musdléioontrachon . Distinguish between Kinesiology and Sports .

Biomechanics with respect to their fundamental
concept. State the importances of Sports
biomechanics and kinesiology for coaches and
physical education teachers. (2+2)+3+4+4=15
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iv) Isodynamic muscle contraction

1) Increase in velocity in a specified direction with
respect to time is known as

i) Accleration ii) Speed iii) Velocity

iv) Force
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_ a‘. ‘ﬁ-;ﬁne axes and planes of the human body.

lefermtlate between axes and planes. Discuss about
mffeﬁent types of planes of human body with a
dlagfam What is centre of gravity? Explain how centre
Bf’ grawty is related to equilibrium maintenance.
(2+2)+2+5+2+2~15
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Describe different types of muscle contraction with
relevant examples. Differentiate between agonist and
antagonist muscle. What is All or None Law? Define
angle of pull. State the importances of good posture
maintenance. 6+2+2+2+3=15
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Discuss about different types of posture. What is
kyphosis? Classify synovial joint with different
examples. What is immovable joint? Differentiate
between ligament and tendon in terms of their
functions. 4+2+5+2+2=15
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Define mechanical advantage of a lever. In which type
of lever mechanical advantage is less than 1—-
Explain. State and explain Law of Momentum. What
is inertia? Discuss the applications of projectiles in
sports. 2+(2+2)+4+2+3=15
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State and explain Law of Inertia and its application in
sports. Discuss the applications of different types
of forces in sports. Explain the mechanical advantage

of a second class lever with a diagram.
(4+3)+4+4=15
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Write short notes on the following (any two):

75 *x2=15
AFre Bt (TR (-1 §fB) ¢
a) Different types of friction and its application
in sports
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b) Moment of inertia and couple— its application
in sports
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c¢) Velocity and accelaration— its enumeration with
mathematical equation
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d) Stability and its different types.
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Answer the following MCQs by choosing the correct
option from the given alternatives for each question
and write it on your answer scripts (any ten):
1x10=10
a)  An athelete is ruuning around the 400m track,
at the time of completion of a full round the
displacement of the athelete will be
i)400m i) 800m  iii) 200m  iv) Zero
b)  The momentum of a moving football having the
mass of 5kg and velocity Sm/s will be
1) IN i) 25Kg iii) 25N iv) 25Kg-m/s?

6(B.P.Ed) [4]

d)

g)

h)

6(B.P.Ed)

Which of the following is an example of bi-axial
joint?

i) Hinge ii) Pivot  iii) Both (i) and (ii)
iv) None of the above

Movements possible in condyloid joint are

i) Flexion, extension and Circumduction.

ii) Flexion, extension abduction, adduction
iii) Flexion, extension, abduction

iv) adduction and circumduction.

Which of the following is an example of uniaxial
joint? '

1) Condyloid

ii) Saddle

iii) Hinge

iv) Condyloid and saddle both.

The part of mechanics that defines motion
without concerning its causes is called

i) - Statics i1) Dynamics
iii) Kinematics iv) None of the above
Which is not the parameter of motion?
i) Velocity ii) Mass iii) Time iv) Speed
The net force required to give a discus of mass
16kg having an acceleration of 4.5 m/s? will be

i) SN ii) 72N iii) 64N iv) 46N
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